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LHS = cos x-S 0X
sin?y

= coszx ) Sif\zx
Sinty S\N X

= Co{zx -

= RHS
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. cos2x=(-3sinX
\'26'\01& = |=-3s’n¥
3 sinx—2sinx = O

siox (3 -2sinx) = O
S)(\x: O Si =

I
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1. Usethehalfangle|dent|tytoevaluatetan exactly -xiz |‘C°“
tan 72 = o> 35: e
SN QI
<
- l+~f‘3( )
_' —
2
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2. Find the exact value of cos212°cos122° + sin212°sin 122°.

-Cos(ZIZ I22>- (‘os?O' =
1) <)

——

3. Find sin 20, cos 26, and tan 26 given that cos 8 = — and 6 is in Quadrant IV.

S\in2E = 251"\3(056 N
=2. ( (5) .

cwze Cosze -si &
S\ _ 4t -25 . ||]9 112 )
) 169 |0 q

{26 = =Sine- = 29
(’0826 "9/, %
What quedrant |'329h/. 7 N
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4. Givensina = % , aisin Quadrantll, cos f = —3, and B is in Quadrant Ill, find sin(a + ).
Sin (u*f) = 5N °(C°-Sf + CoScL s\r\ m\
- - ﬂ'g
b= 5
S (a S
5. Find tan™?! (— %) exactly in radians. - T
lo
R N
r % = —F
| B ? z Iz
N A
6. Evaluate cos (csc_1 v%) = (‘m% =‘ -‘E
.eg —
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7. Find all solutions (in radians) in the interval 0 < x < 2m. sin?x — 2= 0
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8. Find all solutions (in radians) in the interval 0 < x < 2m. 2sin®x = sinx
2 sinx-sinx= O
Sinx (_28\'02)( — D =)
L . 2
SINK=0O SN x =

|
2
X=OJ 71 . \
S = + ——

x

9. Prove the identity.

SinZ x =2csc’x—1
LHS = cosx
Tsin'x sin?x
Sivx Sindx
- |
- == 4 -'\ _Nin x

= CSC?/("'('SC?X — |
"‘chc.'x-\

*RHS V
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10. Prove the identity. cscx — cosx cotx = sinx

CosX  (osX
SINX | StNX

Bonus (10 points): Find all solutions (in radians) in the interval 0 < x < 2m.
sin3x +sinx —sin2x = 0
sin(zx-rg + sink —2sinx¢cosx = O

SINZXcos X +DSZXSINX+I0X - 2SinX. CasX =0
2sinxcasx -casX (|9 \ o . .
; e "““x (2sii)sion +sinx-Zsinxa@sX = ()
:“"“”z" +Sinx-25in°x +§inx~ZSINX(QIX =()

SinK¢as : . <

_ :‘ +2sinx -2 sifk ~2sinxcas X O
ME"‘ x + | =Sip? -cosxj =
e~ O
Cos®

2w 2cote- o]~
QI cosx [2 cOSX
-— ' =
| dJ=0
qu\ﬂ | Cosx =0 cosX =5

X= =TC -
[fom xTE X35
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